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iz
AR 1 JRARES
load datal. mat;

BIRFTEILA 0. 1 N KK, 2EILL 0. 1 N KK
YR U, PR X, BFIA] t

t 1 = 54000;
%% S AH N2
el = 300;

e2 = 862;

ed = 74.2;

ed4 = 1.18;
%% 2 AH N L A
cl = 1377,

c2 = 2100;

cd = 1726;

c4 = 1005;

0 JZAH LR R

k1l = 0.082;

k2 = 0.37;

k3 = 0. 045;

k4 = 0.028;

al2 = k1/(cl*xel) ;
a22 = k2/(c2%e2) :
a32 = k3/(c3*e3) ;
a42 = k4/ (c4*ed) :
rl = al2*le7;

r2 = a22%le7;

r3 = a32*leT;

r4 = a42%le7;
%l — =

al = ones(5,1);

al (1:5) = (-r1)*al(1:5);

bl = ones(5, 1) ;

b1(1:5) = (1 + 2%rl)*bl1(1:5);
cl = al;
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q 2 = zeros(l,t 1);

q2(1,1) = 37,
%EE )=

a2 = ones (59, 1)*(-r2) ;
b2 = ones (59, 1)*(1 + 2%r2);
c2 = al;

q 3 = zeros(l,t 1);
q 3(1,1) = 37;

%E=F

a3 = ones (35, 1)*(-r3) ;

b3 = ones (35, 1)*(1 + 2%r3) ;
c3 = a3d;

q 4 = zeros(l,t 1);
q4(1,1) = 37;

%6 MY

a4 = ones (49, 1)*(-r4) ;

b4 = ones (49, 1)*(1 + 2%r4) ;
c4d = a4;

UZ 1 = zeros(153,t 1);
UZ 1(1, ) = 75;% 54N IR efu 2
Uz 1(:, 1) 37;

for h=1:t 1 -1
i=h+1;

WF— =
dl = UZ 1(2:6,1i-1);
di(1) =d1(1) +r1 *UZ 1(1,1i-1);
d1(5) = d1(5) + rl * UZ 1(7,i-1);
O EY SRFA
UZ 1(2:6,1) = machase f(al,bl,cl,dl);

% 2

d2 = UZ 1(8:66,1i-1);

d2(1) = d2(1) + r2 * UZ 1(7,i-1):
d2(59) = d2(59) + r2 * UZ 1(67,i-1);
%IB A

UZ 1(8:66,1i) = machase f(a2,b2,c2,d2);
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%EE =)=

d3 = UZ 1(68:102, i-1) ;

d3(1) =d3(1) + r3 * UZ 1(67,i-1);
d3(35) = d3(35) + r3 * UZ 1(103,1i-1);

%I L

UZ 1(68:102,1i) = machase f(a3, b3, c3,d3);

Y =
d4 = UZ 1(104:152, i-1) ;
d4(1) = d4(1) + r4 * UZ 1(103,1i-1);

if i = 54000
UZ 1(153,1) = mod (i, 10)* (datal ((floor (i/10) + 2),2)-
datal ((floor (i/10) + 1),2))/100+datal ((floor(i/10) + 1),2);
else
UZ 1(153,1) = mod (i, 10)* (datal ((floor (i/10) + 1),2)-
datal ((floor (i/10)), 2))/100+datal ((floor(i/10) + 1),2);
end
d4(49) = d4(49) + r4 * UZ 1(153,1):
%iE EFIE

UZ 1(104:152,1) = machase f (a4, b4, c4, d4):

UZ 1(7,i1) = (k1 * UZ 1(6,1) + k2 * UZ 1(8,1))/(kl + k2);
UZ 1(67,1) = (k2 * UZ_1(66,1) + k3 * UZ 1(68,1))/(k2 + k3);
U7 1(103,1) = (k3 * UZ 1(102,1) + k4 * UZ_1(104,1))/ (k3 + k4) ;

end

%32 IR 7 AT
U 1 = zeros (153, 5401) ;
U1(,1) =UZ 1(:,1):
U 1(:,5401) = UZ 1(:, 54000) ;
for i = 1:5399
U 1(:,i+l) =UZ 1(:;, i*10 + 1);
end

j=U1;

%4 A AN[R] IS 220 (7L E 22 18] 3 A

x = 1:1:153;
yl = U 1(:,51);
y2 = U 1(:,101);

y3 = U_1(:,501);
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y4 = U 1(:,2001):
plot (x, y1);

hold on

plot (x,y2) ;

hold on
plot(x,y3):

hold on

plot (x, y4) ;

7] 2 P5AAD -

load datal.mat;

WP LL 1 DRI, ASIRIRL 0. 1 b K
WLE U, BEE X, B t

771 = 104;

t 2 = 3601;

for i = 1:5401

K(1,1) = -0.318291616;  %EUHARE

end

IT =6; %56 JEZHIIEEE

%45 = AH N

el = 300;

e2 = 862;

ed = 74.2;

ed = 1.18;

%% Sz AH I L

cl = 1377;

c2 = 2100;

c3 = 1726;

cd = 1005;

%% 2 AH R L TR
kl = 0.082;

k2 = 0.37;

k3 = 0. 045;

k4 = 0.028;

al2 = k1/(cl*xel) ;
a22 = k2/(c2%e2) :
a32 = k3/(c3*e3) ;
a42 = k4/ (c4%ed) :
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rl = al2*le8;
r2 = a22%le8;
r3 = a32*le8;
rd = ad2*le8;

%HE—=

al = ones(5, 1) ;

al (1:5) = al(1:5)*(-rl);

bl = ones(5, 1) ;

b1(1:5) = bl (1:5)*(1 + 2%rl);
cl = al;

q 2 = zeros(l,t 2);
q2(,1) = 37;

Y-

a2 = ones(I1-1, 1)*(-r2) ;

b2 = ones(I1-1, 1)*(1 + 2%r2) ;
c2 = a2;

q 3 = zeros(l,t 2);

q 3(1,1) = 37;
% ==
a3 = ones (35, 1)*(-r3) ;

b3 = ones (35, 1)*(1 + 2%r3) ;
c3 a3;

q 4 = zeros(l,t 2);
q4(1,1) = 37;

%Y=

a4 = ones (54, 1)*(-r4) ;

b4 = ones (54, 1)*(1 + 2%r4) ;
cd = a4;

U2 = zeros(ZZ 1,t 2);
U 2(1,:) = 65; %S4RS EAMZ
U 2(:,1) = 37;

temp = 0;
Ut=[];
for m = 6:250
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for i = 2:t 2

end

% — 2

dl = U 2(2:6,1i-1);

d1(1) =d1(1) +rl % U 2(1,i-1);
di(5) =d1(5) + rl * U 2(7,i-1);

O EYaREA

U 2(2:6,1) = machase f(al,bl,cl,dl);

Y- Sy

d2 = U 2(8:11+6,1i-1);

d2(1) =d2(1) +r2 *x U 2(7,i-1);

d2(I1-1) = d2(I1-1) + r2 * U 2(11+7,1i-1);
%iE L

U 2(8:11+6, 1) = machase f (a2, b2, c2,d2):
%WE=F

d3 = U 2(11+8:11+42,1i-1);

d3(1) =d3(1) + r3 % U 2(11+7,1-1);
d3(35) = d3(35) + r3 % U 2(I1+43,i-1);

%I L

U 2(11+8:11+42, i) = machase f (a3, b3, c3,d3);

e

d4 = U 2(11+44:77 1-1,1i-1);

d4(1) = d4(1) + r4 * U 2(11+43,1i-1);

d4(54) = d4(G4) + r4 * U 2(ZZ 1,i-1);

%I B

U 2(11+44:77 1-1,1) = machase f (a4, b4, c4, d4) ;

U 2(7,i) = (k2 %= U 2(8,1) + k1l = U 2(6,1))/(kl + k2);

U 2(TT+7,1) = (k3 * U 2(I1+8,1) + k2 = U 2(I1+6,1))/ (k2 + k3);
U 2(TT+43,1) = (k4 * U 2(IT+44, i) + k3 = U 2(11+42,1))/(k3 + k4);

Ut -1 =U0277.1,1);

%70 L B A7 TR S B
UZ 2{m-5} = U t;
plot(2:3601,UZ 2{m-5}, 1’ );
hold on;
axis ([0 3600 36 48])

if U 2(77_1,3301) <= 44
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if U2(ZZ 1,t 2) <= 47
temp = 1;
break
end
end

if m "= 250

if temp == 0
7721 =771+ 1
IIT =m + 1;
U2 = zeros(ZZ 1,t 2);
U2(,1) =37,
U 2(1,:) = 65;% 5742
a2 = ones(I1-1, 1)*(-r2) ;
b2 = ones(I1-1, 1)*(1 + 2%r2) ;
c2 = al;
continue

else
break
end
end
end
fit d = m/10;%AA7 mm

%plot (1:3601,U 2(255,:), b’ ); hold on;axis ([0 3600 36 48])
i) @3 YRARHS .

load datal.mat;

BIFIEI LA 1 DRI, ASIAIL 0. 1 b K
%uJE U, BEES X, B[R] t

77 2 = 55;

t 3 = 1801;

for i = 1:1801

K(1,i) = -0.35;  %EUHREL

end

IT =6; %5H _JZWIIEEE

IV =6, %HENEWIKEE

%% Sz AH B 2
el = 300;
e2 = 862;
ed = 74.2;
e4 = 1.18;
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%5 2 AH B L A

cl = 1377;
c2 = 2100;
c3 = 1726;
c4 = 1005;

e R R 2

kl = 0.082;

k2 = 0.37;

k3 = 0. 045;

k4 = 0.028;

al2 = k1/(clx*el);
a22 = k2/(c2%e2) ;
a32 = k3/(c3%e3) ;
a42 = k4/ (c4*e4) ;
rl = al2*]le8;

r2 = a22%le8;

r3 = ad2*le§;

r4d = ad2*]le8;
% — 2

al = ones(5, 1) ;
al(1:5) = al(1:5)*(-rl);
bl = ones(5, 1) ;

b1(1:5) = bl(1:5)*(1+2%rl);

cl = al;

q 2 = zeros(l,t 3);
q2(1,1) = 37;

Y-

a2 = ones(I1-1, 1)*(-r2) ;
b2
c2 = a2;

q 3 = zeros(l,t 3);
q 3(1,1) = 37;

%E=F

a3 = ones (35, 1)*(-r3) ;

b3 = ones (35, 1) * (1+2%r3) :
c3 = a3d;

ones (I1T-1, 1) % (1+2%r2) ;
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q 4 = zeros(l,t 3);
q4(,1) = 37;

%55 VY =

a4 = ones(IV-1, 1)*(-r4) ;

b4 = ones(IV-1, 1)*(1+2%r4) ;
cd = a4;

U 3 = zeros(ZZ 2,t 3);
U 3(1,:) =80; %SAMAMERAMZE
U 3(:, 1) = 37;

SIGN = zeros (245, 59) ;
temp = 0;
for p = 6:250
for w = 6:64
for i = 2:t 3
dl = U 3(2:6,1i-1);
d1(1) =d1(1) + rl * U 3(1,i-1);
d1(5) =d1(5) +rl *x U 3(7,i-1);
U 3(2:6,1) = machase f(al,bl,cl,dl);

d2 = U 3(8:1I+6,1i-1);

d2(1) =d2(1) + r2 % U 3(7,i-1);

d2(I1-1) = d2(I1-1) + r2 * U 3(11+7,1i-1);
U 3(8:11+6, 1) = machase f (a2, b2, c2,d2):

d3 = U 3(I1+8:11+42,1i-1);

d3(1) =d3(1) + r3 * U 3(I11+7,1i-1);
d3(35) = d3(35) + r3 * U 3(I1+43,i-1);

U 3(I1+8:11+42, i)=machase f (a3, b3, c3,d3):

d44 = U 3(44+11:42+11+1V, i-1);

d44(1) = d44(1) + r4 * U 3(11+43,i-1);

d44 (IV-1) = d44(1V-1) + r4 * U 3(ZZ 2,i-1);

U 3(44+11:42+11+1V, i) = machase f (a4, b4, c4, d44) ;

U3(7,1) = (k2 * U_3(8,1) + k1xU_3(6,1))/(kl + k2);
U_3(IT+7,1) = (k3 * U_3(I148,1) + k2 * U_3(11+6,1))/ (k2 + k3);

U 3(11+43,1i) = (k4 = U 3(11+44,1) + k3 * U 3(11+42,1))/(k3 + k4) ;
end
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if U 3(Z7_2,1501) <= 44

end

1T
IV

if U3(ZZ_2,t 3) <= 47

temp = 1;
SIGN(p-5,w-5) = 1;
break

end

17 2 = 17 2+1;

IV = IV+1;

U 3 = zeros(ZZ 2,t 3);

U 3(:,1) = 37;

U 3(1, 1) = 80;% 54 t4fib)

a4 = ones(IV-1, 1)*(-r4) ;

b4 = ones(IV-1, 1) *(1+2%r4) ;
cd = a4;

end

= 1I+1;

- 6

77.2 =1 + 6 + 11 + 36 + IV;

U 3 = zeros(ZZ 2,t 3);
U 3(:,1) = 37;
U 3(1, 1) = 80;%5 /42
a2 = ones(I1-1, 1)*(-r2) ;
b2 = ones(11-1, 1) *(1+2%r2) ;
c2 = a2;
a4 = ones(IV-1, 1)*(-r4) ;
b4 = ones(IV-1, 1) % (1+2%r4) ;
cd = a4;

end

for qq = 1:245

for 1 = 1:59

if S
disp
end
end
end

IGN(qq, 1) ==1
([aqt5  1+5])
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